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MP BOARD CLASS 11 MATHS SAMPLE PAPER-SET 1

ureel uga-—u=
Model Question Paper
Sed
HIGHER MATHEMATICS
(Hindi and English Versions)
Time— 3 =< Maximuim Marks—100
e
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(5) @Wvs € H "l . 6 W 21 H IdRe fGeeu fey 1w €
Instructions
(1) All questions are compulsory to solve.
(2) Marks have been indicated against each question
(3) Two sectrions 'A' and 'B' are given in the question paper.
(4) In section A question No. 1 to 5 are of objective type questions.
(4) Internal options are given in question No. 6 to 21

WUs—3 ARG "I (Objective Type Questions)
U¥T—1 Ul adi-iss ugad # Ty v faeedr # A @&l Iax gi+-rg—

B x 1 36

) ﬁ & ST e B
(a) E_cpal (b) L e
x+1 x x—1 x
_ 1 1 o 1 1
© x+1_; ) X—l_;
(5] (4
@ sin?{ 2 ) sin™ (E] FH A B—
(a) 45° (b) 90
(d) 15° (d) 30°
(iii) ¥FHaer XY. YZ e ZX ol JHIBNYT FHIT B
a) z=0.x=0TW v =20 b) x=0,y=0TH z=0
() y=0,z=0<= xX=0 (d) x=0.z=0 T v=20

(v) afe |feer aj—2j+3k T 3i+46j—5k RER o= B A a @ AN

(1)
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g\p-ﬂ_
@ 9 (b) 16
() 25 (d 36

U Mot 2x2 +2y2 + 22 —2X + 4y +22+ 3 =0 & d% B

1 1
(a) [5 —1.—5)

© (2,42

(b)) (1,2, 1
@ (1, -2, -1)

Write the correct answer from the given options provided in every objective
type question

1
(1) The partial fractions of m are —
@) ¥l x ®) x=1 x
1 1 1 1
© x+1 x @ x—1 x
V3 !
(i) The value of sin? | 2 ) — sin! (5] is —
(@) 45° (b) 90°
d) 15° (d) 30°
(i) The equation of the plance XY, YZ and ZX are respectively —
(@ z=0,x=0andy=0 b x=0.,y=0andz=0
(¢) y=0.z=0andx=0 (d x=0.z=0andy=0
(iv) If vector aj— 2j+ 3k and 3i++6}f512 are mutually perpendicular then
the value of a 15—
@ 9 () 16
{c) 25 (d) 36
(v) The centre of the sphere 2x* + 2y? +2z% —2x + 4y + 2z +3 =0 is—
@ |37k ) (12 1)
() (2,4, 2 (d) (-2, 1)
yei—2. FrafaRaa sl 7 IR/ $2M Bieady AUl ITRyYRasT A
ferRay | 5 %1 3b
i) Bga @ siftgerd g 98 Bl g2 |
, n
(i) cosX° P X & U IfddHed U ———— sin x° Bl 7 |

180

(i) Fe—wde qUE @ Ao T B O Wl B ofd QE AR W gaTg

q Bl

@
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)

Q] WaF TR B! FEHYO I@N WER GHR 8l 8 |
2 3

R ) 1 2

Write True / False i the following statements

(i) The medians of a traingle are not concurrent.
T

(1) Diff. Coef. of cos x° with respect to x is 180 sin x° BT B |

(u1) The correlation coefficient can be calculated only if both variable have
same units

(iv) The regression lines of two mdependent variables are paralle to each
other.
The directi ine of i-3k 1 - :

(v) The direction consine of vector 1—3k are Jio ° Ji0o ° Jio
respectively

gygi—-3. Reb @l @1 gfd sifdsie— 6 x 1 3id

() Bfedm Fdeie el R T G ST FHA B

@) @R @@ F=(i+]) a Rvemm -1::(;_}) A BT BT

() x5 & x2 B AU AAHAT .o B |

(v) g (1,-2,3) ¥ B8R W a1 GHAA & FHBI ... B 1
2X—-y+3z2=0 @ VAR B

(v) ot fdemE S=2t+¢ &8 @ 999 t=0 TR AT BRM .o

Fill in the Blanks—

(69 I spheres can be drawn on three dimensional co-ordinate axes.

(i) If force F= (1+_]) and displacement l:(;—J) then woik is ............

(i) Differentiations of x> with respect to x* is ...........

(iv) Equation of plane passing through the points (1, -2, 3) and parallel to
2K— Y+ JE = 0 o

(v) If displacement S = 2t + t* then velocity at time t = 0 IS ..............

gysi—4. Fr=feiffaa gzl & Sav s grec/ared d foiRgu—  05x1 3ié

@
(i)

(iid)

()

e \Baq Ay 9 el S &1 aifgd §d w3 @& g fefeg
0.824631E06 — 0.743215E06 &1 A4 forfqy |

, b h
werd agder e [ ) de= 2 [+ 2[5, Y, + e Yy ¥ )

¥ h w1 oA forRau
ifres Al weeh Rrawm &1 e foers P &1 93 fafa

3)
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(v) aaed aggs Faw d favy da=e g y @ e forfay |
Write the answer of each question in one word / sentence of the following—
Write the formula to find square root of any number by Newtons-

®
(i)
(1ii)

()
)

uysi—6. A=A

Reiphsons method.

Write the value of 0.824631E06 — 0.743215E06.

b 1
Write the value of h in trapezordalrul _[a f(x) dx = 51 e ¥ 2y ¥ %

: SR 7 o

Write the one third formula of Simpson's relating to numerical method.
Write coefficient of y with odd subscripts in trapezoidal rule.

U3d—5. 9gl o€l §-I1g0—

® [ xtdx
(ii) _[ X2 dx
(i) | logx dx
@) J‘ sjnl‘j' % g
N

Make the correct pairs

0 [ xtdx
@ [ x?dx
(i) [ logx dx
(lV) IS]if;{X

o I

(a)
(®)
(c)

(d)

(e)
®
(2
(a)
(b)
(©

(d)

(e)

®
(2

Yuvs—d (Section-B)
Afdrety Sl we  (Very Short Answer Type Questions)

Tx+4
3x+2)(x+1)?

(€)]

05

Xlogx—-x+¢

2 Jx

log (sin X} + ©

—cot X
log (cot x)

Xlogx—-—x+¢

2 Jx
log x + ¢

1

X

log (sin x) + ¢

—cot X
log (cot x)

®l 3RS Mg 7 ap dfre |
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Tx+4

Resolve (Bx+2) (x+1)° mto partial fraction
3EEr  (or)
3x+1 ‘ ‘
fre @1 G- ) s e # =rs BT |
3x+1 _ o
Resove (x—1) (2 +1) into partial fraction
-7, Rig sy fo- 4 3
3 5 56
O I R LW
S 5 + tan B ST 55
Prove that—
3 5 56
R PARS
S 5 tan B ST 65
3fdl  (or)
| | 1 1 T
Rig @fse—  tan! = + tan! = + tan™! 5 + tan! i
Pr that T_]l+t_1£+t —llat—ll_ﬁ
ove that— tan™ anr a3 ttant o = o
X dy :
w8 de y= @ g ave 5 x — =y (1 - 4 3db
y=_ 5 8T = £ = Fll 5

_ X , dy , dy _
Ify= =y then prove that x i then prove that x g 8 1-vy)

3fAdl (or)

d
—yaﬁaﬁfﬁm

e x=asec O y=btan 6 8 -

d
Ifx=asec Band y =Db tan 6, then find the value of d_y

X
dl
-9 AR y=2sinx+ 3 cosx B d Rig dHifw fb— dz +y=0
X
4 3d
. d’y
If y=2sin x + 3 cos x, then prove that— o +y=20

304l (or)

dy secxtanx

?If?:y:x/secxﬂ/secmm ------ - T g 7 fF dx 2y-1

®
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dy secxtanx
ity = oo e e i =5

YgI—10. 9d STal J IR B | gy avr gl 8, foraa fFsar 2 If/de<
P R W dedl B @ w7 9 B @1 eFed § gfg @1 @) F[ P |

A small stone thrown into a still pond produces a circular ripple whose radius
increases at the rate of 2 ci/second, find the rate of increased of area when
radius 1s 7 cm.

34T (or)
e waa @& forg Ao wHa @1 §ifg $ifeg—
flx) =4x* — 12x + 9 I®A [0 3]
Verify Rolle's theorem for the following function
f(x) = 4x* — 12x + 9 interval [0 3]

yei—11. fr=ifea sffimsl & forg wes—<deay onie sd Siforg— 4 Id
X 3 4 6 8 9
vy 90 100 130 160 170
Calculate the co-relation coeficient for following data
¥ 3 4 6 8 9
y 90 100 130 160 170
3RAdT  (or)

al TR ARRN x @1 y & G5—ddy Uik p & d g P &
0y’ +0,° =05y
B 20, 20,
@ AR Ul T |

If x and y are two variables and p is the coefficient of co-relation between

, W&l o2, 6, N 63, BT X,y T x-y

2 2 2
0, HOy ~0; 5
20, 20,

them, then show that p = . where ¢ 7. Gy2 and Gi,}. are

the variances of x, y and x — y respectively.
YIT—12. TSRO G 2x -9y +16=0 V4 x—2y +1=0 & fo0 ag—<deu
Ul I TTOTAT BT | 4 3d®
If two regression lines are 2x — 9y + 16 =0 and x — 2y + 1 = 0 then find
the cofficient of co-relation between them.

IRET (or)
fFr=ifdd sifeel & foI0 y & x R G971 x & y R A0 O] Bl TT07]
BIFTY |
X 3 5 6 6 9
2 3 4 6 5
Estimate the coefficient of regrassion of y on x and x on y by the given data
X 3 5 6 6 9
y 2 3 4 0 3
(©)
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YTA—13. 99 HAdA BT FHIGRU S1d DIy &1 fawgeil (7, 1,7) @om (2,84) &
TORAT & T 99ad x+y+z=1 & o¥aq 2| 5 AP
Find the equation of the plane which passes through (7, 1.7) and (2,8.4) and
perpendicular to the plane x +y +z =1
3Idl  (or)
fg (1,3.4) & 99ad 2x -y +z+3=0 W uffda sma 3|
Find the image of point (1.3.4) on the plane 2x —y +z +3 =0

ysi—14. g &0 & ByS ABC @ yol AB W & @ dds =

ﬁx5+5x5+5xﬂ
[b-a|
Prove that the perpendicular on side AB of triangle ABC is equal to =

g ol a.b,c WA 5 A B, C & Rufy wfew 2|

hx6+6xé+éxﬂ
53l
respectively.

where a,b, ¢ are the position vector of vertex A, B, C,

34l (or)
g @iy & srgga &1 & w9 gar & | (@fdw [y «@)

Prove that the angle in semi circle is right angle (by vector mentod)

x? 99 x#1

ysi—15. g difow fo— f(x)z{zm e x=1 W 3T ¥

5 3®

2
x° when x=#1

Prove that — f (x) = {2 — is disconfinuous on x = |

3=dr  (or)
3
. X cotx
lim BT A ST B |
x—0l—cosx

X3 cot X

Find the value of lim
x—=01—cos X

Y16 J\/2ax—x3dx &1 99 SiTd B 5 3idb

Fmd the value of _[\} 2ax —x° dx

3qdl  (or)
_[ x? sin! x dx &7 AF T B

(7
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Evaluate _[ x* sin! % dx
YTI—17. GRAAd y* =uax o & y=mx @ d/d B &b Shd B |

5 3id
Find the area between the parabola y? = uax and the line y = mx.
3dr  (or)
w/4 T
g a1— _[0 log (1 + tan x) dx = gloge.’z
/4 Tt
Prove that— J; log (1 + tan x) dx = glogez
U3I—18. 3AHA HATHIUT T BRI— 5 b

dy " 1+cos 2y N
dx 1-cos2x
Solve the differential Equation—
dy " 1+cos 2y
dx 1-cos2x
3MET  (or)
Ih FA y = Ae™ + Be ™ & forv s@ama wHiaR0 Sid Iy |
Find the differential Equation for the family of curve y = Ae™ + Be™X
U¥i—19. Ush Ude H 100 U9 & 50 4 10 @v@ &8 i 90 9 5 U9 Igeen
frerar S @ wifRiear sma BT 6 FH-—I—a9 UH WRE U9 U B |
5 3d
In a packet of 100 pen, 10 pens are defective, if 5 pens are drawn randomly
then find the probability that at least one is defective
AT (or)
@ afs A g B &0 ug & forg smaes <0 &1 A @ e @ Wi
1

Fon ]' oo N -
i Tn B @ Tgq @ ufed E g 1 urafear std @ifoie 5 =i H

q st &1 N =T T 8

Two person A and B applying for a post. probability of selection of A is P

1
and the probability of selection of B is s then find the probability that none

of them will be selected

ugt—20. fa7g (-1,3,-2) A BB W drell 99 A W1 B FAIGRIT S
;. X Z x+2 vyv-1 z+1
FRT S T T=2=2 R ——=2—=

I 2 3 -3 2 35

R d9aq g1 6 3D

Find the equation of straight line the passing through the pomt (-1, 3, —2) and

®)
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X z X+2 y-1 z+l ,
perpendicular to the lines —= 2-2 s —= ALY R dqad B |
L 2 3 -3 2 3
34l (or)

S Ml &1 AR g diferg o fasget (1, 1, 1), (1, 2, 1) 3R (2

1, 1) A BIH oAl 2|

Find the equation of the sphere passes through the points (1. 1, 1), (1. 2. 1),
EL, LTy amdld, 1. 1)
UFI-21. S9 T BT Ay WHEGR0T Fd it e @ AB g oiel A
g B3P fAcwie A (2,-3,4) @@ B (-5, 6,-7) fAv € Wt & afeRor &
iR ®U Al o By s9@! 3T IR &g Al 9arsy | 6 3Ad

Find the vector equation of sphere whose diameter is AB where the coordinate
of A and B are A (2, —3. 4) and B (5. 6. —7) also find its equation in cartesion
form find the radius and centre of the sphere

3l (or)

a b =
simA sinB sinC

fd AABC ¥ wfeyr fafd & Rrg aifdiw fd—

a b €

In a traingle ABC. prove by vector method— SiA SoB e
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